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2031. Define Essential Use Cases

Use Case 1. Set current time
Actor User
Type Evident

Pre - Requisites

mode7} Time-Keeping 4fE{jo{0F StC}.

Typical Courses of Events

(A) : Actor (S) : System
(A) MH section(XE, £, Al
(S) 3HY sectiong Zwrolct,
(A) sectiong = 8tCt.
(S) 8tHofl 2o{&E Lt
(A) Mg = BtCt

(S) 8 ZEE HhXLI7EA AlZhE EoiELC

Qo o) =
= =) H)2 = "1

L

R

@ gk 0Nk
-

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 3: Z section(X, £, Al, &,
4 2 1 Ch2 section®| 2t 2

section?| Zf € 02 THEL}.

r

)0l BHAIX|o LR

=iy

2
=

Use Case

2. Set timer

Actor

User




Type

Evident

Pre - Requisites

Mode 7} Timer 4FE{O{0F StC}.

Typical Courses of Events

(A) : Actor (S) : System

(A) dEE AlZte| EHIE =MD

(S) R =Hdt= Alhe| ©HRIE EAIBCH

(A) s EFle] Al =8 E &8t

(S) 2Foil et EHe|AlZHEHE HE I

(S) HEE AlZtE EAISt D HHo| 2 ZEM K|

BrSetCt.

o wDdh ke

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 4 :2F Et2|o] 2|C &2 =
7. Z|CHE =ste -2 3

%|CHE E AlStCE

a
Q'I_I
rir
1
02
rlo

Use Case 3. Start timer
Actor Actor
Type Evident

Pre - Requisites

Set Timer0l| 2|3 0= & =18t AlZHO|
M7 E|o] Qlo{oF BtCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) Systemoi Timer2| Al &
2. (S) MM E|o] Y= AlZtolM RE] AKX AlZho] E0f
et 7t E ctstot.

QEFCH

Alternative Courses of Events

N/A




Exceptional Courses of Events

Line 1: Timer2| A|Zto| A%

20| ASMm. FAIECH

E|04 AUX| &

F7LE 0= O M AlZF

Use Case 4. Pause timer
Actor User
Type Evident

Pre - Requisites

24Xl System= ELO|H 3tHE £2{5t 1 2{0{0f
A XK

15 E AlZte = Eto|H7t A

=20 -

ghoh

Typical Courses of Events

(A) : Actor (S) :
1. (A): SystemOi|H| ElO|H HX|E Bt
2. (S): 8&&CQl Eto|HE HXIEtCH

ST S

System

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 5. Clear timer -> 5. Reset Timer (20200603)
Actor Actor
Type Evident

Pre - Requisites

34Xl System ElO|H 3tHE

Typical Courses of Events

(A) : Actor (S) :
1. (A): System O|H| EtO|H =7|3HE & &t
2. (S): EIO|HE 022 Hi#Ch.

3. (S): Elo|Hel MHo=Z CtA| Eotztct.

System

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : o|O| Eto|o4el Alzto] 0@l
E0{2 FA|EtC}.

HMEHOM Clear 2

ol




Use Case 6. Notify the end
Actor System
Type Hidden

Pre - Requisites

24Xl System2 EO|HE &l&st Rlo{0F BHCh.
EtolM7t 00| =|ofof tCt.

Typical Courses of Events

(S) : System
1. (S) E}O|M7t 00| £|™, System Beep2 2 S A|ZICE.

Alternative Courses of Events

N/A

Exceptional Courses of Events

ot

Line 1: Ct2 BeepZt 0|0| & F0|H™, FA[EHCE.

Use Case 7. Start Stopwatch
Actor User
Type Evident

Pre - Requisites

Mode 7} StopwatchZ A% E|0{ Q/o{of BtC}.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi| Stopwatch@| A|Xtg Q& L}
2. (S) Stopwatch0ll M{&El AIZHFE{ Count upBtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : Stopwatch0i| A EA|7}ks 8 2| 0|4 2| Count up
(Stopwatch7t A|ZF El A EHOI M EAlZH Y R|E B2R)
XSS E StopF 022 X 7|5 Bt

(HAIZERIE R 2 715t o|2E S&F2 Al™)

Use Case 8. Pause Stopwatch
Actor User
Evident

Type




Pre - Requisites

%1%l System2| Mode2 Stopwatch 0|0{0F FtC}.
Stopwatch 2| AlZt0O| IRl 4FEfO[o{oF BFC}.

Typical Courses of Events

(A) : Actor (S) :
1. (A) SystemO0f| | stopwatch LA X

2. (S) TI¥ &2l stopwatch AlZt2 HKX|EtCt.

System

& &

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 9. Record Lap Time

Actor User

Type Evident

Pre - Requisites Start stopwarch7t A& E|04 /= &FEf0{OFEHCE.

Typical Courses of Events

(A) : Actor (S) :
1. (A): Stopwatch B0 Lap time 7152 2
2. (S): #4%H stopwatch A|ZtS 7|5 3t0{ Eo{&LCt.

System

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : Lap time 7|& 2| 2[CHEtE O|4 22 Q@FH0| E0{2™

7t 2eliE 7SR E AR AXEDT MER Lap timeO|
7|SEct

Use Case 10. Clear stopwatch

Actor User

Type Evident

Pre - Requisites Pause stopwatch7} A2 E|0{ Q1= 4FEHO{OFEHC.

Typical Courses of Events

(A) : Actor (S) :
1. (A) SystemOi| Stopwatch®| X7|3t& A tC}
2. (S) #xf Stopwatch2| A|Zt2 022 & 7|3} 8tC}.

System




3. (S) 2 E Lap Time 7|52 AMA|EtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : Pause?} OHEl AEHOI M Clear@ A 5tH F A|SHCE

Line 1: 00l A2| Clear R 5t FA|BtCL.

Use Case 11. Delete alarm
Actor User
Type Evident

Pre - Requisites

alarm mode0i| £047}0} StC}.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) MANE g2he MEistT AXE -t
2. (S) MEEl 222 AX|stD EoiECt

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: H|04 e LE0IAM &AM 22 FAIEC

Use Case 12. Activate alarm
Actor User
Type Evident

Pre - Requisites

285t AI7|1E LEo| MEfE|of RIo{ok ErC.
] =

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi|7H| &2 &M @& gt

2. (S) Y alarm2 &3} StC}.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: BtoF HIO{RE Lol 35t g 5tH FAIE




Use Case 13. Deactivate alarm

Actor User

Type Evident

Pre - Requisites #4%H Mode2 alarm 2 =040f &trt.
HIZAHStA|Z|= L8 o] MEHE[0] Qlo{oF Lt
S 220l activate A Ej040F Bt}

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi|H| 222 H|E G5t &S &tCl.

2. (S) MY alarm2 H|& s} St}

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: 2Fof HIO{R/E &0l H

1]

93t @S st FAIE

Use Case 14. Set alarm
Actor User
Type Evident

Pre - Requisites

Mode7} Alarme 2 M&E|o{ Qlo{of &tCt.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) =™E alarm= =48t
2. (A) ME4Et alarme| M E Alzt ©HRE ME4ECH
3. (S) ™ B Alhe| EFRIE E AR
4. (A) G EHelel Azt MEE -t
5. (S) 2Fol et EeAlztEtE HAEEICH
6. (A) Al dEE =8t
7. (S)HEE AlZtE EAISID ZE HRIAIZH HHO
22 7t x| g5 etot
Alternative Courses of Events | N/A
Exceptional Courses of Events | N/A




Use Case 15. Notify alarm
Actor System
Type Hidden

Pre - Requisites

System2| &35} El Mode & alarmO| EXH{5t0{0FFtCt.

g 3tEl alarmQ| A|Z+} System A|ZHO| S §loqof St}

Typical Courses of Events

(S) : System
1. (S) X AlZ+1t SystemO| SYU5HH, beepS

S AlZicH

Alternative Courses of Events

N/A

Exceptional Courses of Events

ok

Line 1: 0|0 Beep7t & &0|™ F A[EtCt.

Use Case 16. Set case number
Actor User
Type Evident

Pre - Requisites

0|

#4x Mode & Decision Making O[040} L},

Typical Courses of Events

(A) : Actor (S) : System
1. (S) System2 Default Case Number& EA
2. (A) SystemOil Case Number2| =g &

3. (S) Case NumberZ #=3tC}.

N
ro ok
o

Alternative Courses of Events

Exceptional Courses of Events

Use Case

17. Get case




Actor

User

Type

Evident

Pre - Requisites

84Xl Mode = Decision Making O[040} St}
Set Case Number A% 0| 2t 2 El &Efo|o{of EFCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOil Case Number O|LH2| Random
Numberg & 3tct.

2. (S) Actor0i 7l Random Numberg& X3 &tCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 18. Choose a city
Actor User
Type Evident

Pre - Requisites

%1% Mode= global time 2 =040} &tC}

Typical Courses of Events

(A) : Actor (S) : System
1. (A): HEES 0|88 T AIE MEiSHCE
2. (S): sHE T A2to| A|RIE A4S0 EOo{&ECLE.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 19. Calculate time of city
Actor System
Type Hidden

Pre - Requisites

& 43l El Mode & global timeO| 2{0{0f BtC}.




Typical Courses of Events

(S) : System
1. (S) =™ M™E Alztat sHE citye| A|AtE 018
a1 T Al9| AlZhE A AHEHCE

5}04

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 20. Change current mode
Actor User

Type Evident

Pre - Requisites N/A

Typical Courses of Events

(A) : Actor (S) :
1. (A) 8% C|AE8 0| E[&= Mode HE 2 M Ftrt.
2. (S) 81X E04X|= model| C}HE modeZ
ClAEE)o|§ T2tstct.

System

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 21. Select modes
Actor User
Type Evident

Pre - Requisites

AMAHZF 2E dEE o= T Qlofok BHot.

Typical Courses of Events

(A) : Actor (S) :
1. (A)Actor7t #43tE modeE 47+ K| MEHEHCE.
2. (S) ME4$t 2=E Change current modeE &3l

MEAEH = QT & settingStCt.

System

Alternative Courses of Events

Hed

Line 2: ME4=I oF2F0| 4747} ot AEHUIM 2E M

FAIECH

ro




Exceptional Courses of Events

N/A

Use Case 22. Activate beep
Actor System
Type Hidden
Pre - Requisites AEO|Lt EtO|H S22 &7 AlZto] A& k|0 2lo{ok Btrt.
Typical Courses of Events (S) : System
1. (S) YOI} EtO|HZ FE{ BeepR%0| E012H,
Beep=2 S EIC
2. (S)Actor7t ol 22l= X & = ULSE

C|AZ2ofghct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 23. Deactivate beep
Actor User
Type Evident

Pre - Requisites

0f

gzol 22l= & olofok Eho.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOil Beep= SX|E QLY.

2. (S)Beep=2 SX[tct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2032. Refine Use Case Diagrams

Actor

71N

RDM Watch System

1. Set current time

5. Clear timer
7. Start stopwatch

8. Pause stopwatch
/ 19. Calculate time of city
. 9. Record Lap Time

_-—-—-‘——-‘
\ 10. Clear stopwatch 22. Activate beep
11. Delete alarm
12. Activate alarm

13. Deactivate alarm

14. Set alarm
16. Set case number
18. Choose a city
NN
20. Change current mode

21. Select modes
23. Deactivate beep

6. Notify the end

15. Notify alarm

2033. Define System Sequence Diagrams

USE CASE: Set current time




o g~ w D

)s
S) atHo ‘:’04 E
)A

S) & EEEE HHI-X#I_IJI-A-I INFd2=
Hoi&ECt.

:System

Actor
loop /' 1.selectUnitTime(unit) !
: Highlight Unit("Blink") :
e et nha bkl phntatottal b :
2. changeUnit() :

: Display Changes ;
oot DoplayChanges
: 3. setCurrentTime() :

; Set OK :
.< ..... Display Current Time __ J

USE CASE: Set timer

(A) : Actor (S) : System

1.
2.

Illllll
x
m
=
rol
o

(A) d-e Alzte| B2

(S) TN =Hst= Alztel HRIE

(A) SHE EFR(o] AlZt £HE Q& st}
(S) o] et EelAlZterE HE E I
(S) HAE AZHE EAIStT HAHO|

= Emntx| g5t

Actor ;

loop J 1. selectUnitTime() :5
ZENNRE Highlight Unit('Blink') _________ i

H 2. changeUnit() LE

E Display Changes ;




USE CASE: Start timer
(A) : Actor (S) : System i
1. (A) SystemOi|l Timer2| A|Zg @& tC}. G ‘System
ctor
2. (S) d™E[0] U= AlZHolM 2B & : 5
Alztofl 3 8of et 7t2 E cH2 8tk 1. startTimer() >
RN ReplyStat | =
USE CASE: Pause Timer
(A) : Actor (S) : System
1. (A): SystemOiH| EtO|H HX|E i :System
S AsC}. Actor
2. (S): S&59Ql Eto|HE X3t} , i
1. pauseTimer() ...E
FANR RN ReplyPuasse
USE CASE: Clear Timer
(A) : Actor (S) : System
1. (A): System OiH| EtO|H =7|8tE i :System
xS y i
QYL Ac'tor 1.clearTimer() o
2. (S): EtO|HE 022 HtFCt. ] 1
3. (S): ElolHol MM o= ChA| Sotztct. SEEEEEEEN Reply Timer . -




USE CASE: Start Stopwatch

(A) : Actor (S) : System

1. (A) SystemOi| Stopwatch2| A=

2.

ey

(S) Stopwatch0i| X{%& El A[ZHEE{ Count

upetCt.

.

System

i 1. startStopWatch()

' Display Stopwatch

USE CASE: Pause Stopwatch




(A) : Actor (S) : System

1. (A) SystemOi|H| stopwatch LAIHX|E
QS

S) T &9l stopwatch AlZHS

X|BtCt.

n
—_

02
£l

Actor

1. pauseStopWatch()

displayStopWatch

USE CASE: Record Lap Time

(A) : Actor (S) : System

1. (A): Stopwatch TS0 Lap time
7188 Fs
2. (S): #1XH stopwatch AlZtE 7|5 5104

HoiZELl.

:System

Actor

1. recordLapTime()

Display Lap Time :
O ECEEECEEEE LR LT 4




USE CASE: Clear Stopwatch

(A) : Actor (S) : System
1. (A) SystemOil Stopwatch?| Z7|3&

QY

:System
2. (S) ¥l Stopwatch2| A|ZtE 022
=7|&}gtct. Actor
3. (S) ZE Lap Time 7|28 Afxl|stct. : -
i 1. clearStopWatch() E
E Display Stopwatch E
| e ;
USE CASE: Delete alarm
(A) : Actor (S) : System
1. (A) MHE LS HENSH D AXE
QAFCH :System
2. (S) MEHEl 3 g AtM|stn HoiECh Actor

1. deleteAlarm(alarmNum)




USE CASE: Activate alarm

(A) : Actor (S) : System
1. (A) SystemOi|H| g2t &
stCt.

2. (S)dllY alarm2 & 443} SiCt.

Actor

1. activateAlarm(alarmNum)

System

USE CASE: Deactivate alarm
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USE CASE: Set case number




(A) : Actor (S) : System
1. (A) SystemO0il Case Number2| =Hg

\oX=}yu

2. (S) Case NumberZ $H3tc}.

:System

Actor

1. setCaseNumber()

W

Display Modified Case Number

USE CASE: Get case
(A) : Actor (S) : System
1. (A) SystemO0il Case Number O|LH2|

Random NumberE 2 & $tc}. :System

2. (S) Actor0| Al Random Number& :

) Actor ;

MNSEtct. - :

E 1. getCase() \

E Display Random Number :

T ——




USE CASE: Choose a city

(A) : Actor (S) : System

1. (A): HEE O|8dH TAIE ME4BICE

2. (S): i TAIeto| AIRHE H|&tstod :System
Hoi&ELC}. Actor
§ 1. chooseCity(cityName) E

Display city's time

USE CASE: Change current mode

(A) : Actor (S) : System
1. (A) & C|AEH 0| £l= Mode HAE S

M

=t

0]
0

. :System
M 20{X|= model| CHE mode 2

e

n
—_

S)

Actor

[t
rot

M

|AZ20|& TEHEtCt.

1. changeCurrentMode()

v

Display next Mode

L I N D T R U e e




USE CASE: Select mode

(A) : Actor (S) : System

1. (A)Actor7t +3}& modeE 47t%|

- :System
eyt
_ Actor
2. (S) MEf8t 2= Z Change current ;
modeE Sl ME{E = UTS :
. - E 1. selectModes(mode1, mode2, mode3 , mode4)
settingStC}. :
. Display("OK!") H
e

USE CASE: 23. Deactivate beep

(A) : Actor (S) : System
1. (A) SystemOi Beep= SX|& L&t}

2. (S)Beep=2 &X|gtct. :System

Actor

1. deactivateBeep()

. A




2035. Define Domain Model

TimeKeeping

1 currentTime: Local Date Time

Timer

currentTime: Local Date Time

~—— leftTime: Local Date Time

Bean endTime: Local Date Time

activated: Boolean

1 Stopwatch

1 | lapTime[10]: Local Date Time

—
startTime: Local Date Time
1
> > 1 dTime: Local Date Ti
= RDM Watch System I ! " Mode 1_") bl ol
~ - .
available[4]: Mode + field: type WorldTime
disable[2] : Mode +field: type city4]: Stirng
timeDifference[4]: Local Date Time
E DecisionMaker
= StaticTime caseNum: Integer
alarmTime : Local Date Time - Alarm
activated: Boolean } alarmList[4]: StaticTime
2038. Refine System Test Cases
Test Test &5 Description
Number
1 Set Current TimeKeeping 0l “LONG_MO"HES Z ME Z=of XCHE
Time

Tidst=7t

TimeKeeping 0lM ME 2EQ i}, “RE'THE 2 Z &Y Unito| &

B7tet=7t

TimeKeeping 0l M ME 2E M, “ST'HESZ Y Unit0| &

#HasteTt

TimeKeeping 0IM M2 2EY [, “AD"HES E CtF Unite £ &
Ho{7t=7t

TimeKeeping OlA ME ZEU [, ‘MO'HESE ME ZEE &




i RALE 7= 7F

2 Set Timer Timeroll M “LONG_MO’HE S Z ME ZEof MCHZ FIe=7t
Timerol M M2 ZEU M, “‘RE"HEE ST UnitO| &
Bttt
Timerol A M ZEL ml, “ST'HESZ SHE Unito| & ZrA5HE7t
Timerol M ME 2EYU [, “AD’HESZ C}S Unite 2 &
=Ho{7t=7¢
Timerol M ME ZEYU M, “MO'HESZ ME REE &
it X4L} 7= 7

3 Start Timer Timero|l M “ST'"HHE S 2 Timer7} A& 5H=7t
Timer AlZ & 1X&0] 14 ZHASET}

4 Pause Timer Timer A% & “ST"HE S E Timer7t HX|5t=7t

5 Reset Timer Timer x| & ‘RE’HE S 2 TimerQ| Alzto| M8t Al Zto2
Eot7te7t

6 Notify The End | Timer AlZtO| Ct X|LtZtS M, BeepS 0| 22I=7+

Of Timer

7 Start Stopwatch | stopwatch7} “ST'HHESZ Al&tat=7}
Stopwatch A|ZF £ 1= 0 14 B7+5HE71
Stopwatch7t 0F-E{ A|& 5t =7t

8 Pause Stopwatch A|Z & “ST"HESZE HX|5H=7t

Stopwatch

Stopwatch MX| A|, ZA|IE AlZtol M EX|5t=7¢

9 Record Laptime | Stopwatcholl A “AD’EHE S 2 LaptimeO| 7|2 E|=7}

10. Show Laptime Stopwatcho{ A “LONG_MO"HHE S E Laptime 3t 2 &



=Ho{7t= 7t

Laptime StHO|M “RE’THHE 2 2 LIS Laptime2 & 20iF =7}
Laptime 3tHO|M “ST"HHE S Z 0| LaptimeS & E0{F 7}

Laptime 3tH|AM “MO’HHE 2 Z 0| StopwatchZ & Ho{7l=7}

11 Clear Stopwatch |
12. Activate Alarm
13 Deactivate
Alarm
14 Switch Alarm
15 Set Alarm
16 Notify The
Alarm
17 Set Case
Number

Stopwatch7} “‘RE"HHE S Z 022 X 7|3tE|E7}

AlarmolA “AD’"HHE S 2 ST 22 0| Activate=l=7t

Alarmo{ A “AD"HHE 2 2 Active 2 Z 0| Deactivate == 7}

AlarmOM “‘RE’HHE S Z C}2 & of 7t

mo
Hr
a
rr

AlarmoM “STTHESZ CIS & of 7t

mo
Hr
a
rr

Alarm O|A “LONG_MO'HES 2 ME 2=of M2 Tl st

rr

Alarm oM ME 2EY [, “RE’THHE S 2 Y Unito| &
E7tst=7t

Alarm OM ME 22 M, “ST'HES E Y Unito| &
7I-A°|.‘— 7}.

Alarm OlM MIE! 2EYU [, “AD’"HE S Z CIS Unite 2 &
=Ho{7h=7¢

Alarm OM ME BEY [, “MO'HESZ MEl ZEE &
btk ALt 7= 7+

Activate &l 22 A|ZHO| E|H BeepS 0| 22l 7

Deactivate® &2 A|7HO| £|0{E BeepZ 0| S2|X| A =7

DecisionMaker 0| A “LONG_MO’"HE S 2 ME 2 =0 X2

7(|OI°|.'—7|.



DecisionMakerol A ME 2= [, “RE"HH{E S 2 Case Numer7/}
& B7tst=7t

DecisionMaker0l M MIE REU [, “ST'"HHE S Z Case Numer7}

B HdasteTt

DecisionMaker0l M ME ZELU [, “MO'HESE MBI ZEE &
i XL} 7F= 7}

18

19

20

Get Case

Switch City

Switch Mode

M El Case Number ALO|2| Caselt LI =7}

Case7} MEHSHAH LI=74

WorldTimeOll M “RE'THHE 2 Z CIS T A|Q| AlZtE EoiF =7}

WorldTimeOll M “ST'THE 2 Z 0| T A9 AZtE Eo{FE7}

‘AD’HECSZ CIg ZEZ & Ho{7l=7}

ME4E 4700 B = LHOMBF HE =T}
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2039. Perform 2030 Traceability Analysis

Ref# Function Use Case Number & Names Operation in sequence diagram

R11 Set current time »| 1. Set current time 1-1. selectUnitTime(unit)

R21 Set timer |- | 2 St timier 1-2. changeUnit()

R2.2 Start timer |3 Start timer 1-3. setCurrentTime()

R2.3 Pause timer — |4. Pause timer 2-1. selectUnitTime()

R2 4 Clear timer - | 5_ Cle2@r timer 2-2. changeUnit()

R2.5 Notify the end of timer l——p | 6. Nofify the end 3-1_ startTimer()

R31 Start stopwatch | 7. Start stopwatch 4-1. pauseTimer()

R3.2 Pause stopwatch — | 8. Pause stopwatch \ 5-1.clearTimer()

R3.3 Record lap time > |9_ Reccord lap time \ 7-1. startStopWatch()

R3.4 Clear stopwatch |- | 10.. Cl2ar stopwatch \ 8-1. pauseStopWatch()

R41 Reset alarm " |11. Reset alarm \9—1.recordLapTime()

R4.2 Activate alarm + | 12. Activate alarm \ 10-1. clearStopWatch()

R4.3 Deactivate alarm et | 13. Decactivate alarm \ 11-1. deleteAlarm(alarmhum)

R4 .4 Setalarm »|14. Set alarm \ 12-1. activateAlarm(alarmhum)

R4.5 Notify alarm | 15 Notify alarm 13-1. deactivateAlarm(alarmNum)

R5.1 Set case number *|16. Set case number 14-1_ selectAlarm{alarmNum)

R5.2 Get case et | 17_ Gel case 14-2. selectUnitTime(unit)

R6 1 Choose a city || 18 Choose a city 14-3. changeunit()

R6.2 Calculate current time of that city j———]19. Calculate time of city 14-4. setAlarm()

R7 1 Change current mode [=—120. Change current mode 16-1 setCaseMNumber()

R7.2 Select modes - | 21 Select modes 17-1 getCase()

R81 Activate beep -»| 22 Activate beep 18-1 chooseCity(cityName)

R8.2 Deactivate beep 23. Deactivate beep k20-1 changeCurrentiode()

\ 21-1 selectModes(mode1, mode2, mode3 , moded)

23-1 deactivateBeep()




